2024 EF LD E EREMRBERS

RESULTS

H SM6E3A30H (1)
& 1 —BEHLEELHRES
F & —BEhELHERES



2024FF VD ERIBABEI GRS
¥ & —BEmELRERS

FRBs —EEH N ERE LR

H5h R-avF 433y
202438 30H
=37 Kix KR BE AR BE
13:00 5 15.9 23% it 1. 8m.”S
14:00 fE 15.2 30% it 6. 2m.”S

15:00 i 14.9 27% it 4. 8m.”S

Manager ($47%) INEFFEXCBR
Chief Referee(ZE#|&) INEF A

Chief Recorder(ER8xEE) Sl ki



bS5y oHEE - REE

No.1

Bl EF 2— rfog] Biay  04EZVL0OEEEEERBRES a— ¢[ 24030313 | g MNEEXH
T —EhELRRBR s —EEE A ERE LR a2— K| 032010 SR BEERR
: VA AL TRILED | snge W] BHLED | suge W] BHLBS | sops W] BHCBG | s W] BHCEG | oo W] BECED | g W] BECED | sue W] BHCED | -

= fEH o SEE ol PiE Eizd | P Eizd | il SEE ol e Eizd | P Eizd | FilE SEE I Eizd

03/30[55F 148 R T[F®% & 1]4:44.56|2[ILAKEEKRER [4:46. 10| 3[=% #AK |4:46.95[4[/NEBHL 1[4:49.00(5[his ®F 1[4:50.32[6 N4 & 2[4:5413[7[5H #&ix 2[4:54.86]8[KE f=F 1]5:06.04
1500m FURF 4% INEFRbRE T-7RY— TG T-7ZY— TG T-7RY— kTG ESILE Aok {EB P EERIR

03/30 57248 R T =1& 2|4:28 17| 2|8 = 3|4:31 913 |8A Bz |4:32. 27| 4/MLEMA 2|4:32.69(5|Ris 23 2|4:33.93|[6 (% &x= 2|4:37.82| 7|k =& 3|4:40.47| 8| & 3|4.44 22
1500m i feg L ch i BEIRG—X B i i FURF SR |BEAEH BB T-7RY—kTC b b iy

03/30[ 55 F 348 RS TI6ER B5M@ 2] 4:19. 11| 2 [/NREEKRES 2[4:20. 22| 3[fEA K& 2[4:20.3T|[4[f63 @ 2(4:22.63(5|5E =¥ |4:23.98]6(far IBEx 2|4:24.40(7[%itt A2 2[4:24. 87| 8[RJI & 2[4:25.86
1500m REALHEBER T-7ZJ—KTC WERLHBER REALHEBHR | |BBEERC EREK T-7 X —KTC EAEK

03/30[5F 148 RS TIEN %8 1]9:45.52| 2 |Bk W@ 2| 9:.50.01|3|=% 151 3]|9:54.88| 4| BA 1]10.01.295|&2A BeE 3|10.03. 21| 6 |[/k#E 3t 1]10.06.36 7 |felE ZA 3|10:07.38| 8 &M ==& 1/10:09.38
3000m —BEIRE KRTHR B R RPE EEFSK Rl — BB Y S da ket BEBR

03/30| 5 F 248 R 1ies #E 2(9:19.06]2 [/ % £EX 9:25. 703 [&2E ZE 1[9:28. 14[[4|/NE EE 2[9:29.24(5|/h4k FESR 2] 9:30.40( 6 [f£4T 1&8% 2(9:32.35([7|=i@ U1]9:34.38| 8 [fcmE Z=#E 1]9:34.94
3000m b2 A Fy 5T —BFRER LS REAS W R ERER —RAFRRE

03/30| 55348 R TR B4 1]8:35.65( 2 [Bp4F A#E 2[8:42. 79| 3 |R:EEPE 2[8:45.65[[4[=48 KAt 1(8:46.74[5|H8E & |[8:49.43[[6[/NEpF (& [8:53.34[ 7=t 118:54.35[8[&R #A 1]8:54.45
3000m BEKZHEER MEIESK MHEIESRK PHAIESK TEZAC TEAMZ TILA MEATEER — TR

03/30[55F 148 R T]8%AK HBE 2[15:30.75 2[R 728K 2[15:48.18[ 3|21l ;EEE 3[15:48.30[ 4 [/NEEJEF 2[15:55.085 [T Ml 2[15:57.50( 6 |HE FEx 2|16:15. 54 7[BAF REE 2[16:16.16] 8 [BE Z=ZE 1[16:32.21
5000m METEBE EHLABE Bk BRI BHLASH EBFER EFEK B ER

03/30[EF 248 R TSNl [t 1]14:47. 942 [ K5 =an | 14:52. 00| 3 |2l =i 2|14:56. 43| 4 |teiE 2= |14.57.49| 5 | LHMAES |14:59.29| 6 |=.E K¥g 2|15:22.30| 7 |Z9:th =2 2|15.26.37| 8 | k= & 1[15.32.03
5000m BEREHBER A #RC BEKRZHEER db b iR TisERE EHUASK LS BEXLHEER

03/30[ZF 148 RS T[h# D 1]5:16.45| 2[A7E 23 2| 5:37.36| 3 |=A L 1|5:39.68]4[hE =/ 2|5:4.12|5|RE MZE 2|5:52.46( 6 |=ts =& 2|6:00. 48] 7[7F% =W 2|6:00.77|8[fE<XAFiZ= 1]6:15 10
1500m ELBZERO R SIERER 3 3 BEALHBE A ALH BB {EBRER HEALHBE K

03/30] % 7248 RS 1[&% B 2[4 072w © 2[4:49.63|3[ZE=EBE 2[4:50.57]4 T[4:53. 05| 5[IE 15 1]5:01.59|6|f&2 JMBD 2|5.03.98(7 =8 =# 1]|5:05 19|08 | EBEask 2|5.06. 31
1500m ARRE SR S 2 ) A s 4 EallisHst RERE SRS WA XBARER R AR 1 TRE R chpe WA KRB

03/30] % F 148 R 1[#Eimi_ER  2[10:50.29] 2 [AK =54 3[10:53.67|3 (|85 #X 3 10:58.32-”74'-% JedE 3|11:01.85)5 |mm =& 1 11:09.82'”?9:31114 B 2[11:20.67|| 7[@E =2 1[11:26.62[8[=:F EF [11:28.48
3000m EEESE EEESE PR ch s BERAmD R s EER EEFER EEESRK Team Bright




BFZ 14 1500m R

[ 4] 6531%1’# M1 (F TS &) 4:44.56
[5] 36L& FeApp (JAEFEME2)4:46.10
[9] 619;"’% #w & (T-7AU-hTC)4:46.95
[7] 815/NE & 4+ 1(T-7AU-+TC)4:49.00
[ 8199027 8" i # 1 (T-7AU-FTC)4:50. 32

(611011017 % @2 (RhiHER)4:54.13

SOl wWw N —

BFZ 2% 1500m R

1101451008 ' % 152 (1 F % £04:28.17
2 [13] 71413@ % B3 (LELhER)4:31. 91
309 BB K Ez (BFVAI-14:32.27
4 [5] 788/ IHH Mk 2 (RKRE—HFR)4:32. 69
5 [7] 643;@/}0 # 322 (I /¥ % #2)4:33.93
6 [8] 64 & w2 (BEAEHESR) 4:37. 82
7 114] 625%*”1‘” s 453 (T-72U-FTC)4:40. 47

8 [3] 9 m 3 (dtbh®R)aiad 22

BF3#H 1500m RiH

1010] 7967 1 w2 (BEAZHERR)4:19. 11
2 [3] 6234\:@ T A ER2 (T-TAU-HTC)4:20.22
3[14] 661F % & f&=12 (BBAEKESR) 4:20. 31
419 687 "% w2 (BMAZHERR) 4:22.63
5 [6]419357°% % ¢ (BBIER C)4:23.08
6 [16]233514717.35 IE.Q B2 (1B & #)4:24.49
741 622586 Kk B2 (T-73)-b10)4:24.81

B2 (kBB K)4:25.86

8 [1712323% 1|
th)'fJ W -
9 [12] 6248 A& & yi2 (BEAZKESH)4:26.16

BFX 14 3000m R

12121877 @1 (—EEREEK)9:45.52
2 [12] 3855 K 5 i 2 (AGRIH5)9:50. 01
3 [13]9904% & 45 (= 3 (SERHHIX)9:54. 88
4 [4] 4451§jw B & 1 (1B EE#)10:01. 29
5 [1] 6915 & % 4 3 (F)IHZH) 10:03. 21
6 [3] 1297 58 1 (—BEREER)10:06. 36
7151 220508 = k3 (GEEBFHIE)10:07. 38
8 [1414517% ' # &1 (4 F & £)10:09.38
9 [20]4512:j:ii — 1 (H F 7 £)10:19.28
10 [ 681§J4JWm 1% A3 (B =) 10:26. 07

#%)10:26. 17
12 [8] 365%*33*7& & A 3 (ZRRAEFFH)10:26. 38

1 [18]4515/J\ WA (HE F S
13 [11] 40388 % 33 (BAHZHK)10:27. 69

7 [ 11707838
AA) JaynR1

8 [12]4513% %
9 [10] 17135 &

FH 3%

10 [11] 160%53 EKX
ME L2 (A ER)5:30.00

11 [3]7002% %
F59Y

[ 2170733 Jf

O [M4514KES mal(EF S
10 [ 1] 963¢€*”§f’<

11 [15] 188 & "
12 121 839/
13 [12] 854% ¢
14 [16] 175%"5:
[4] NT vy

21/ |5
[ 612330 & =

FINNVE

10 [2] 652 %5
11 [8] 107;&1w
12 [1] 4905 &
)/\1'7
13 [5] 624 &
14 [13] e
15 [11] 718"
16 [15) 998% Hi
17 [18]9901’&”@

189 59

[ 71419247 3

14 (171643138 &
15 [10] 2652 &
16 [6] 24%/9’94#
17 [21]2324%5 'H'
18 [25] 9228 %
19 [24]2658%%?%1[1
20 [15]1235%F £
21 [19]45164% %"
22 [2211093% &'
23 [23]234051”’;%”*
24 [9] 87% I
25 [7] 26¥8°&

801E % A @2t 1 (@Hj{%ﬁﬁnﬁm

k2 (EBHRFR) 4:54. 86
E ¥1 (8 F 5 ®K)5:06.04
x 38 2 (RRRILHR)5:08.09
(TEAMTTI1)5:14. 36

B & 2 (E BT FER) Ri5

1) 4:45. 43
%% 3 (B P ) 4:50. 35

1% A2 (2RRLEH)4:50. 91

— # 3 (ERPFK)4:51.36
i (BRIEERMER) 4:51. 81

1% M2 (ERRILEHK)4:57.76

X 13 CREHER) Ki5

B AT (R B B R RS

B &1 (R TS R)4:27.05
N2 (LEE=ZEK)4:28.06
Fﬁ3(HH;Rq:'%1‘I)4'29.33
B &2 (T-TAU-$T7C)4:29.50
30. 89
1w a1 (BAAZEKESR) 4:34. 35
& 3 2 (LA KBHER)4:35. 98
£E2(A R (C)4:37.50
i (BEEERC)RIG

#mwm (—BE A C)10:28.40

3 (BHEHFRK) 10:30.30
X #@3(‘1:25%‘43%—1"2)10234. 94
& F2(E B & ®)10:35.20
k&3 (EL2ZERO)10:36.90
TEH %2“:/ Bz ‘:F—T—T&HO 39.10
’fztn' ®1I(EFS T’§)10242.59
bt K3(;RW‘:F';?—T’§)10253.29
1% 18 2 ('TZE BE 1‘)&)10:53.46
A3 (AL EHFFR)11:16. 58
£ 2 3 OREFFR) 11:54. 67



BF 24 3000m R

1[15] 14588 'R 4 B2 (LB EH)9:1

2 [19] 35%”%% £ K (FRLI5N9:

S Akt

3[9 12772 @ % &1 (—BFREER9:

AN 9N

4116] 149N & I E2 ({E5ILEK)9:
:30.
:32.
:34.
:34.
:39.
41,
41,
44,
145,

5 [12] 833]9\: ;{" g o5 2 (BAALHESR) 9
6 [26]23254£ 11 & =2 (A B & K9
708 134" w1 (—BEERER)9
8 [20] 6551;}?% =1 (M SR
925 386H FH = A2(KRIEKI
10 [18] 166%?%’ % 12 (BRELER)9
1M [71131EE % %1 (—BE2EEH)9
12 [2116581%"" %« 1 (F F = &)9
13 [6] 1267 & zE1(—BEREK)9

/) erE

9.06

25.
28.
29.

BFZ 3% 300 0m REE

1121 2%°0 s &1 (BAAEHESR)S:3
42,
145,
:46.
49,
:53.
54,
54,
54,
:57.
04,
:07.
:09.

2 [10] 412807 3k 48 2 (RBIXEE) 8

M1 MEZE mEPE2(MHIXSRK) S
9_1]_\/9 1

4115 419871 Kk g 1 (MATLSR) S
501 89% % @& ({Lt% A C)8
6 [17] 19075% % & (TEAMPTINS
7[14] 420= "8 £ 1 (MAIXEK)S
8 [7] 128 1 A1 (—BE2RSH)S
90 [4] 6958 Kk gp 1 (BEAZWESL)S
10 [12] 40758\, (g2 (MATLEK)8
11 [8] 130" T8  7&1(—E¥KEEK)9
12 [19] 996 % £ 33 482 (5 ABAER) 9

7I~'7/\_.l¢,j

13 [16] 94T gk %EZ(%?&ME%BTN

14 [27] 14855 7™ 1 B2 2 (TEB LB 9:

10
14
24
40
35
38
94
41
10
29
45
03

5.65

10.

BF14 5000m R

REPEEVES

Ik 195

SOl A W N =

{75 70

9 [6] 4130 HH 41 ¥ 2 (MEIXER)16

[7] 4105°K 75 22 (MAIEEH) 15
[2] 957 & *5 K2 (BEHRLERRK) 15
[9] 5892 I\ & Ee3 (= 4+ K %)15:
[3] 434/ & tﬁzw%ﬁmmw
[1] 93T f& 15 2 (BERLERR) 15:
[4] 4398 & 3 ;2 (TEBESK) 16:
7 [16]450888 " = m 2 (& F & ) 16:
8 [19] 7645 " = ;1 (&L ER) 16

:39.
148.
48.
95,
57.
15.
16.
:32.
:38.

19
65
14
43
34
35
45
817
61
47
67
50
85

15
18
30
08
50
54
16
21
39

10 [8] ANEE g oE 1 (WAIZSR)16:45.30
11 [10] 3094 0 & (ERKHETREHRR) 16:49.18

14 [22] 659%”#
15 [4]61042"E"

H71T t'f

7 1 (7] FF & #2)9:47.

%3 (5 P % K)9:47.
16 [17]9903)1T &~ %= 7 3 (MEFEHZK) 9:48.
1713) 70008 % 41 (2EAZHESH) 9:53.
18 [5] 4168 K % 1 (MEITLEK)9:54.
19 [11] 6583 H 42 & 3 (FAPFHK)9:59.

2% nukn

St R el

20 [10] 1327 o R (—B%RBH) 10:00.
21 [14] 3763 1li & A 1 (BExFHERH) 10:01.
22 [2] MME R s o 2 (EBREE) 10:11.

YN 3'7{3:

23 [24] 1102 3 B — 2 (WEFE=ZE®K) 10:13.

24 [3] MAETE 591 (FTEBESRK)10:21.
25 [23] 6561% % Kk 2 1 (¥ FF & #2)10:29.

NZY 97k

(1] 5134 B F #2 (fEBEESR) X5

15 [9] TI0/N & =5 & 3 (E&LHFER)9:11.
16 [22] 1134 5 22 (UAB=HER)9:13

189 v

17 [28]12072/ B 3@ N2 (fH # 2 &) 9:17.
18 [3] 63% H %EZ(MﬁWEE*&N:ZL
19 [20] 984% % 1 « 2 (lEKBEHER)9:22.

‘* * (S R C)9:25

R

20 [25] 367%%
21 [13] 409715%’% 22 (REIEER)9:25.
22 [23] 64431 B J2 32 (R AT B ) 9:25.
23 [ 6] 124’»}”"M 1 (—EEREH)9:28.
24 [18]42402° % = (& % R C)9:30.
25 [26]4411@"@& B A2 (LoNLAREH)9:39.
26 [21] 9975 5 — & 1 (lAXBHBER)9:45.

[5] 1335 #2 % =1 (—B%RaR) X5
24 29T % %= (—B A C)xip

12 (11155101 748" #® #e 3 (EMBEAHREH) 16:50.

ATIN 745
15

13 [12] 1777H & %,ﬁZ(Eﬂﬁith)ﬂ

14 [14] 165( % = B2 (ERRELBEH)17:16.
15 [15]1922%?”11 & B2 (EHKESE) 17:19.

* U2

16 [ 5] 4084 & % @:2(&51%&&)17 21.

179 NV T+

IT13] 1788 B F5 B3 2 (BRREE®R) 17:23.

* 31

18 [17]6441% LKk Em (—FE A C)17:29.
19 [21] 45430/ K< B (FERI&ERER) 17:42.

(8117714 "%  E (— B A C)Rip
[20] 763w f 1 (TEBIBR) K15

30
35
35
24
66
19
64
96
46
00
58
30

46
58
43
34
08
11
51
88
69
26
62
82

25
13
90
49
35
57
31
51



Bx2#4 5000m Ri%

1 [ 1] AXNS YI¥

2 [5]4241K 18 & 5%

h

6 [13] 100=°F % 32 (EHLESR) 15:22,
# 72 2 (eI EH) 15:26.
WK"E T g1 (BEARKESHR) 15:32.
= 2 (BEARKESH) 15:32.
10 [17] 4155 % 15 2 A 1 (KRBT LK) 15:55.

*9F U5

1 [8] 146% b
AFIY Z05
8 [4] 5y

9 [2] 67f &

22N e w1 (BEAZHESH) 14147,
i (A% R C)14:52.
3 [3] 602" = o2 (BEAEHEDH) 14:56.
41200 T5%c g {8 & (LLARER) 14:57.
5 [6]9907TLH# gk p (LiEEERS)14:59.

94
88
43
49
29
36
317
03
09
22

11 [15]
12 [12]
13 [19]
14 [16]
15 [14]
16 [10]
17 [11]

[7]

[9]

(18]

MTE'R &1 (MEITLSHK)15:55. 49

1201 =
VA
453%713:%liﬂ
MBE
548381 %

nING k35

2 (—BEEREK) 16:01. 47
g 1 (TEBHESR) 16:05. 53
k1 (MEIESR)16:17.79

=1 (EHLEEH)16:20.07
123%5 B 1 1 (—BFRER) 16:24.75
18TRCE B K1 (—BERER)17:07.01
29T % k& (—BACIKS
120K AR iz 1 (—BFRER) RS
IBEE & k2 (TCEESK) XIE



ZF14 1500m REE

[1]
[2]

180h "/ 31 (BEE®ZER0)5:16.45
16157 & 312 (EAHKER)5:37.36

YA

[8]5915 4 3 s 1 (&)IIEHFHK)5:39. 68

[4]

1

2

3

4 [3]
5

6 [5]
7

158 B = g2 (AREMERK)5:41.12
51% &  ih = 2 (ABA¥HESH) 5:52. 46
58 = 2 (BEAZMESR)6:00. 48

R4

(101705235 B5 3 5 2 (£ B FH) 6:00. 77

8 [6]

BT 4 & 3z 1 (BAXENESR)6:15.10

///\7 Uy

9 [1117059% ' =1 ({EBH ) 6:18.99
10 [14]7061% k& ;1 (EBH ) 6:24. 68
11 [12]70557?8”)” B 2 (1B HEH) 6:32. 34
12 [9]123125°8 1 %2 (£ 7B B 1)6:35.39
13 [13]7060%”” 1 (B ER)6:50. 70

[ 719908 5

Sy :I/\Jl/

LE1T(A R C)RiH

TF2# 1500m R

1 [3]
2 [4]
[1]
[3]
[10]
[7]

O N o O b~ W

[11]
9 [9]
10 [2]
11 [6]
12 [13]
13 [12]

1562 8 & =2 (REBANSK)4:43.17

NING Eiey

155J1| " i D2 (BEAEER)4:49. 63
58012 K s &2 (F /Y & #)4:50.57
16345 % K 57 1 (REHHEH) 4:53. 05
953JI| lh% O %1 (e XBHE®K)5:01. 59

1628 2 I 'J\Z(%Him‘&ﬁfiﬁ 03.98

[8]6146 218" & 4 1 (RASHH)5:05. 19

DAFRUASF

955 & 32 ***2 (i XBHER) 5:06. 31

954/ E &< 52 (lEKBHER)5:06. 52

5881E H = w2 (W FF & #2)5:07. 94

TIA EIY

157=. H* B (BEHEER)5:12.70
95F #E = =1(T-7AU-FTC)5:19.00

@'7 a1

951 NI # m 1 (LARBAER)5:32. 80

it%ﬂfﬂ 3000m R

1 [3]

278189 (- pe 2= 2 (L& S 1) 10:50. 29

2 [1] 2656 & = f 3 (TEBHESH) 10:53. 67
3 [10] 60750 = d\ % 3 (BREFRZH) 10:58. 32
4 [OONE" % % 45 3 (BEABTEK) 11:01.85
5 [4] 2804 F T =1 (TEEESR)11:09.82
6 [6] 2794 1, =2 (TEEESK) 11:20. 67
7 [8] 2867 8 = = 1 ({EBHEE) 11:26.62
8[12] 8257% s 7 (TeamBright)11:28.48
9 [14] 3665 ||’ 2= A 3 (RFELHREK)11:29.23
10 [11] 136254 #2423 (ELEZER0)11:31.85
11 (7] 2852 @ &= 1(%%3@5&)11:44 11
12 [13]23098 % 2 2 (kB & £)14:21.49
[2] 2128 4 = g2 (TEBESK) K15

[ 5]

287 w1 (EEHESK) KIS



